ser (3

JET INDUSTRIAL WINCHES PRODUCT # 113264

REF PART

O©CoOoO~NOOhhWNERE

PFS-IWF10001001
PFS-IWF10001002
PFS-BB6205ZZ
PFS-IWF10001004
PFS-BB6005Z
PFS-BB6206Z
PFS-BB6203
PFS-IWF10001007
PFS-IWF10001008
PFS-IWF10001009
PFS-TS1490041
PFS-TS1490031
PFS-TS155108
PFS-TS154006
PFS-IWF10001010
PFS-IWF10001011
PFS-IWF10001012
PFS-IWF10001013
PFS-IWF10001014
PFS-IWF10001015
PFS-IWF10001016

DESCRIPTION

RETAINER BOLT M8X40
CASING A ASSY

BALL BRG USE: PB6205-2Z
CASING B ASSY

BALL BRG USE: PB6005-2Z
BALL BRG USE: PB6206-2Z
BALL BRG USE: PB6203-2Z
DRUM ASSY

NEEDLE BEARING

STAY BOLT

HEX CAP BOLT (2) M8X25
HEX CAP BOLT (3) M8X20
LOCK WASHER (7) M8

HEX NUT (7) M8

WASHER 30.7X42.7X5
SPUR GEAR C

KEY 8X7X15.7

CLAMP

PINION B ASSY

THRUST WASHER

PINION

REQ REF PART

1
1
1
1
1
1
2
1
1
1
2
3
7
7
1
1
1
1
1
1
1

22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42

PFS-IWF10001017
PFS-IWF10001035
PFS-IWF100136
PFS-IWF100118
PFS-IWF100119
PFS-IWF100120
PFS-IWF100122
PFS-IWF100123
PFS-IWF100124
PFS-IWF100125
PFS-IWF100126
PFS-IWF100127
PFS-IWF100128
PFS-IWF100129
PFS-IWF100130
PFS-IWF100131
PFS-IWF100132
PFS-IWF100133
PFS-IWF300334
PFS-IWF100137
PFS-IWF100138

DESCRIPTION

GEAR COVER ASSY
IDENTIFICATION PLATE
ROTATION INDICATOR
BRAKE PAWL
WASHER (2) 16X25X1.2
SPRING PIN 4X25

DISC HUB

BRAKE DISC (2)
RATCHET DISC ASSY
RATCHET

RATCHET STOPPER
CLAMP

BALL PLUNGER
BRAKE COVER ASSY
P/HD/SCR W/WSR (8)
BRAKE COVER LID
HANDLE RETER ASSY
BOLT (2) M6X18
HANDLE ASSY
WINDING INDICATOR
FREE WHEELING LABEL

PRPRRPNRPRRPRRPRRPRRPRPRPRPRPNRPRRPNRPRRLRERLT

WWW.Jetequipment.com

m
O





